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BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 1.00 = m2 1.00
FELH T 2tDT EELT WAL
FHAH L4 1.34 —( 0.55 = 0.90 )= m3 0.73
FELH T 2tDT
FFIAB TAT7 /% 1.00 X 1.00 X 0.05 = m3 0.05
BN
TR/ 0.05 X 235 = t 0.12

=R M K E &




%6

mEtT ETHY iR O
W | B gyt ——— i B || W | W gyt ——— i ®
+1T O-1
Al [ - 1.00 - —
1.043 1.00 1.00 1.043 | 1.543-0.500
0.339 0.70 0.85 0.288
2.538 0.70 0.70 1777
48.740 0.70 0.70 34.118
0.410 0.70 0.70 0.287
& & 53.070 37.513
+THER = 53.070 m T TER
S EHRY = 37.513 + 53.070 = 0.71 m S -0

=R K GE

el

k>l



FOKE SRR T MEEFER  No7
ol A Bl % B 2y ALl & it ¥R
AsEidE (5-10-10) WiEEE (t=bem)  237.7 AsEFF 237.7 m2
AL ATE IR AR AstfidE (3-10) i E A
LSRR T B2 IR B0 BT AsEHEERR « t=10cmPA T HE  102.4 S &t 102.4 m m 102.4 102
S P Bk (AL +THEHE BEERELY 32.9 of + 29.6 nf + + =62.5 nf
2t . 3 3
S T TR ALY 3.8 5.8 nf
FKE ik +THEHE BERERLY 5.8 M + 5.3 m =11.1 o
(5-10-10) BERR B (gl T THEHF BEfRERXY 53.4 o + =534 m AF 130.8 nf
SRR (GPB) B BE (t=5em) MIEABIBmAE 2377 - {EHEEmAE 130.8 = 106.9 nof
L ES AsEHERR + t=10emBL T Ml 237.7 o+ EARNE + m2 237.7 238
T T T W
JELED S B EIE 130.8 X 0.03 + 1069 X 0.05 = 9.3 m3
o T8 B PR
AsitsE N3t 9.3 X 2.35 t/m3  + X 2.35 t/m3 21.9  t t 21.9 21.9
+T PEH! HtEl (52 0) HOEAs{EREE  130.8 X 0.02 + m3 2.6 3
AL A m3 2.6 3
T T AN m3 2.6 3
SPEEAEIRT | RRRERIE BOE AL - A RAEWS L 8m| T O A A S H R m2 237.7 238
R (i) FPRERLE (20 1o\ i A 1 e | 277 238
X T T 2 X AR - B - W=30cm (1238%) 3.6 + m 3.6 4




HPPE ¢ 5OmmEKERRT HEHEE

k&4 £18Y:0.70m NO.,
g 4 R
L 5 BRI A | & & | EHR 1
JKEEKE B EFZOFMESE
¥ RYIFLUE ¢ 50 x 5,000 PN 8| 5.000 5000 X 8 = 40.000
JKEELKE B BEE
RYIFLUE ¢ 50 % 5,000 N 2 DERELY = 1520 4%
RUIFLUEH mx
EF45° RUF ¢ 50 x 45° & 1] 0.220 0220 x 1 = 0.220
RUTFLUER m
EF22° 1/2RUK $50x22° 1/2 & 1/ 0.180 0.180 x 1 = 0.180
RUTFLUER A%
EF22° 1/2RUK @50%22° 1/2 & 0.230 0.230 X 1 = 0.230
RUTFLUER s 0.280 0280 X 1 = 0.280
F—X $75% ¢50 & 0.100 0100 X =
RUTFLUER A%
EFO5 9 ¢ 50(GFE!) & 0.160 0.160 x 2 = 0.320
PEHEO{FY7b -1 5 ¢ 50 & 0.680 0680 x 1 0.680
RUTFLUER
EFV4 vk ¢ 50 & 2 2
RF-GF3 AT
770 BF M ¢ 50 #A 2
EELR 49.430
A-TR
BELERY-7 ¢ 50 m 49430 x (6.0 65.248
100m&HY
REEA-7AT-7 m 49430 x 510 25.209
ERER T
ERART—7 W=50 m 49430 -  0.680 48.750
TILE THIR T
BERZEAE S — W=150 24 m 49430 - 0.680 48.750
¢ 250 H=0.70
TSRS CH1ERIH " 1 1
T+ A ¢ 250
L WYL L+ TF#& H=300 & 1 1
T+ A ¢ 250
L WYL [EER () H=40 | {& 1 1




HPPE ¢ 5O0OmmEKERRT HEHEE

kM £ 38Y):0.70m NO, 2
g 4 R
IiZ £ FBHKTZE Hy) % &2 1w _Z
FE (ERT]
BhE H#
RYIFLUERMGT ¢ 50 m 48.8| 49.430 — 0.680 = 48.750
A#%F) EE H22 EF750Y°
EF#F T ¢ 50 331 15| 8  + 1 + 2
45 22
1 X 2 1 X 2 + = 15
2A#%F) Yiryh
EF#F T ¢ 50 BT 2l 2+ = 2
UIERELY
RYIFLUEYRT ¢ 50 m} 3] 3 = 3
EF775Y
IV HFT ¢ 50 BT 2| 2 = 2
fOHHET ¢ 50 = 1 1 = 1
HExEH TEE H#
BHREREREL ¢ 50 (517 1 + 1 = 1
BBHEA-THEL ¢ 75 m 49.4| 49.430 = 49.430
ERART—7 W=50 m 488\ EMH LY = 48.750
FILZ
BEEEE S — W=150 2% m 48.8|BEHME LY = 48750
BKE
BKEHERT BREE B it m 49.4| 49.430 = 49.430
¢ 250
HUFRASEEMRT G AL - 15l 1 1 = 1
T+ A ¢ 250
VY Uk AR T L+ TF#& H=300 & 1 1 = 1
T+ A ¢ 250
VY Uk AR T EEB(Hf2) H=40 | {& 1 1 = 1
(£T]
50
EHLTD-2 TEEE m 494/ 106 + 388 = 494




Aid/KE HPPE ¢ 50 1 FHE B NOE T e = 0% = 0. 25m

2o Y E - .
X g 33 1
W X 55 pk B s|ES pk B s|Es pn B S| wk B s|Es mk B x| | P
1 PP 0.520] 2 PP 3.810 4.330 0.670 2
0.52 3.81 53 % 53 7%
3 PP 3.190 3.190 1.810 1

3.19 & 2 23 2 23

FL—r T REE HPPE ¢ 50 L =5,000 2 ZN 7.5201 2.480] 3




T I ¥ R K i %
No. 2 NO. 1 TI®D-2 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
50mmHPPEECK & 49.4 =ER L CER L CER L CER L CER L CER L SEE L CER L
SER L SER L SER L SER L SER L SER L SER L SER L
£ i i 1 & & BER=

AsEliZEhR 1.00 49.40 49.40 )| ( 49)

SEUMT t=15cmA T m
AsEZhR 0. 60 29. 64 29.64)|( 30)

SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.43 21.24 21.24 ) ( 20)

AR R T HE+ m3
BHO. 13m3 0.15 1.41 7.41)]( 7)

HHERT BER m3
BHO. 13m3 0.15 1.41 7.41)]( 7)

HERT HESL m3
(RC-30) 0. 60 29.64 29.64 ) ( 30)

TREERET t=10cm m2
(RM-30) 0. 60 29.64 29.64 ) ( 30)

LRERET t=12cm m2
BAZTHLAs13mm 0. 60 29.64 29.64 ) ( 30)

B R 18 16 t=3cm m2
BitunT 0.26 12.84 12.84 )| ( 10)

(£8) 2tDT m3
BitunT 0.03 1.48 1.48 ) ( 1)

(AS) 2tDT m3,
ZAE 0.07 3.46 3.46 )| ( 3.5)

ASE% t

=R oK E #




T I #% E & & EBE
No, 1
WA =  (@D-2 HPPE#50 L= 49.4 m
B B = il H= 0.70 m
EHEEE = 0060 X 0060 X x / = 0.003
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 1 = m 1.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
et 1. BHO. 13m3
- E A - FEE A 1.00 X 0.60 X( 0.76 — 0.05 )= m3 0.43
HEEZ 1. BHO. 13m3
LRI AT 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
HEECT BHO. 13m3
LN A 1.00 X 0.60 X 0.25 = m3 0.15
TSI T (RC-40)
t=10cm 1.00 X 0.60 = m2 0.60
LS T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 2tDT Al AL
FEAS 177 043 —( 0.15 = 0.90 )= m3 0.26
FELH T 2tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.05 = m3 0.03
BN
TAT7 /iR 0.03 X 235 = t 0.07

=R M K E &




VLP ¢ S5OmmEBEKERRT HEBFHES

EIE- O HKEVLP ¢ 50mm FHERIER 1 1=4.680m (4.180m) +3.080m (2.580m) =7.760m (6.760m)

R £48Y :0.70m NO,
g 4 R
IiE £ FBHKTZE By % £ | B4R 17
#H# BRI EEMAR2
T (LR ¢ 50 = 2| 0.180 0180 x( 1 + 1 = 0.360
BEEER T ¢ 50 0.360
BIEEZLSA=V I HE ¢ 50 m 7.4 UERELY 7400 YIEMA
a74%
BT ¢ 50 & 10 5 + 5 10
a74%
834209759 ¢ 50 & 2 1+ 1 2
A
FCD &75v%° $50 7.5K ® 2 1 + 1 2
RF#2)7°
770V F ¢ 50 #H 2 2 2
BEER VLP ¢ 50 7.400
T VLP
BEEER 0.360 + 7.400 7.760
ERER T
EHRT— W=50 m 1.4 7.760 — 0.360 7.400
THIR T & R
BERZEAE S — W=150 24 m 5.8 6.760 — 0.360 — 0.600 5.800
¢ 250 H=0.70
TSRS CH1ERIH " 2 2+ 2
T+ A ¢ 250
L WYL L+ TF#& H=300 & 2 2 + 2
T+ A ¢ 250
Ly uik'yh R [EER () H=40 | {& 2 2 + 2




VLP ¢ S50mmEBEKERRT HEFHES

EIE- O HKEVLP ¢ 50mm FHERIER 1 1=4.680m (4.180m) +3.080m (2.580m) =7.760m (6.760m)

R EH 1Y 0.70m NO, 3
g 4 R
TiE £ K TZE S % & H %
FE (ERT]
HURFET ¢ 50 = 2 2 2
ISUCHET ¢ 50 7.5K m} 2 2 2
MNOERFERTT @50 m 7.4 7.4 74
LD YERE
NOZMEYIST ¢ 50 a 10 10 PR 10
ey
NORFERFT ¢ 50 [m] 20 10 PEARL x 2 20
RLAHESE ILE BISUY
NORFERFT ¢ 50 [m] 22 10 x 2 + 2 22
aV9Y—kEIR HIFL#Z ¢ 80 7 2 2 BE 254t 2
EHRT— W=50 m 14| EHMHEY 7.400
BEEEE S — W=150 24 m 58| EMH LY 5.800
¢ 250
EUFAKSREAT (O AR - 15l 2 2 2
TUHH ¢ 250
LYk IR T L& H=300 & 2| 2 2
TUHH ¢ 250
VY uR AR T EE(F#2) H=40 | {& 2| 2 2
(£T]
¢ 50
A T@-3 hEEE m 6.4 40 + 24 6.4
9=+
200 X 200 X 100 VLP ¢ 50-28 fft
avh-+T 0200 x 0200 x 0100 — VLP ¢ 50
18N-8-40 m3 | 0.004 0060 x 0060 X m / 4  x_ 0.00 0.004 | 1LY
AT 0200 x 0.100 X 2+ 0200 x 0.200
INEIEEY m2 0.07 — 0060 x 0060 x ;w S 4 x 2 0.074
9=+
18N-8-40 m3 0.01] 0.004 x 2 0.008
BHT
INEIEEY m2 0.15| 0.074 x 2 0.148




[&FfE - ] VLP@50 YIEHE
No. 3

BRE e - B/ NIE A o = o =
4 b . .
i i | x| 8 W
F| BIK K S[ES BIR [k S[EFES OBR (R S|FES OBRK (KB OEIES OBRK (K S
1. 700 1. 300 0. 300 0. 300 0.300 3.900[ 0.100[ 10 5
1. 700 0. 500 0. 500 0. 500 0.300| 3.500[ 0.500[ 10 5
o 2 Y [BRE Oe, BR, K] L = 4,000 2 X 7.400| 0.600| 20 10
=R KE L




T T ¥ R E B R
No. 3 NO. 1 TI®D-3 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
50mm VLP #EK & 6.4 =EEL SEE L SEE L SEE L SEE L SEE L SEE L CER L
SER L SER L SER L SER L SER L SER L SER L SER L
£ i i 1 & F BER=E

AsEliZEhR 2.00 12.80 12.80 ) ( 13)

SEUMT t=15cmA T m
AsEZhR 0. 60 3.84 3.84)|( )

SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.43 2.75 2.75)|( 3)

AR R T HE+ m3
BHO. 13m3 0.15 0.96 0.96 )| ( 1)

HHERT BER m3
BHO. 13m3 0.15 0.96 0.96 )| ( 1)

HERT HESL m3
(RC-30) 0.60 3.84 3.84)|( 4)

TREERET t=10cm m2
(RM-30) 0.60 3.84 3.84)|( 4)

LRERET t=12cm m2
BAZTHLAs13mm 0. 60 3.84 3.84)( 4)

B R 18 16 t=3cm m2
BitunT 0.26 1.66 1.66 )| ( 2)

(£8) 2tDT m3
BitunT 0.03 0.19 0.19)(( 0.2)

(AS) 2tDT m3,
ZAE 0.07 0.45 0.45 ) ( 0.5)

ASH% t

=R oK E #




T I #% E & & EBE
No, 1
s = @O-3 VILP$50 L= 64 m
B s B = il H= 0.70 m
EHEEE = 0060 X 0060 X 1z / = 0.003
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.60 X( 0.76 — 0.05 )= m3 0.43
T BHO. 13m3
K NFRED AR 1.000 X 0.60 X 0.26 — 0.003 = m3 0.15
T BHO. 13m3
LG TN A 1.00 X 0.60 X 0.25 = m3 0.15
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 2tDT Al AL
FEAA 1+ 043 —( 0.15 = 0.90 )= m3 0.26
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.05 = m3 0.03
EIN -
TAT7 /iR 0.03 X 235 = t 0.07

=R M K E &




fKEMRLT (RES75mmHPPE) #E85HEE

R £48Y :0.60m NO, 4
g 4 R
TiE £ K TZE S % & H %
H#
FYIFLYE A (e EY) A947°
YRV 5 KiE d75% ¢ 20 2 4 4
¢ 20
kR Y IR FCD ZRm# & 4 4 4
FE (BT T]
FYIFLVE A
DKBETAHT d75% ¢ 20 G331 4
THE
MIH As47° EHIEB> 4m
EKEERT PEP ¢ 20 B 4/1=22m + L=22m + L=4.2m + L=4.2m L=3.2m
(£T]
¢ 20
HWAKEID TEEE m 11.6]  11.6 11.6




T I ¥ R K i %
No. 4 NO. 1 TI® NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
MK E (K E P 75mmHPPE) 738 1.6 =EE L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 B BER=

AsEliZEhR 2.00 23.20 23.20 )¢ 23)

SEUMT t=15cmA T m
AsEiZEhR 0.50 5.80 5.80 ) ( 6)

SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.29 3.36 3.36 ) ( 3)

AR R T ME L m3
BHO. 13m3 0.1 1.28 1.28 ) ( 1)

HHERT BER m3
BHO. 13m3 0.08 0.93 0.93)|( 1)

HERT HESL m3
(RC-30) 0.50 5.80 5.80 ) ( 6)

TREERET t=10cm m2
(RM-30) 0.50 5.80 5.80 ) ( 6)

LRERET t=12cm m2
BEZRH As13mm 0.50 5.80 5.80 ) ( 6)

B R 18 16 t=3cm m2
BitunT 0.20 2.32 2.32)|( 2)

(£8) 2tDT m3
BitunT 0.03 0.35 0.35)|( 0.4)

(AS) 2tDT m3,
ZAE 0.07 0. 81 0.81)f( 0.8)

ASH% t

=R oK E #




T I #% E & & EBE
No, 1
s = @D PEPp20 L= 11.6 m
B s B = il H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.50 X( 0.63 — 0.05 )= m3 0.29
T BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
T BHO. 13m3
LG TN A 1.00 X 050 X 0.15 = m3 0.08
AT (RC-30)
t=10cm 1.00 X 0.50 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 0.50 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
LG T 2tDT Al AL
FEAS 177 0.29 —( 0.08 = 0.90 )= m3 0.20
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 050 X 0.05 = m3 0.03
EIN -
TAT7 /iR 0.03 X 235 = t 0.07

=R M K E &




fKEMRLI (RES50mmHPPE) #E5tEE

18- O1%: PEP ¢ 20mm X 57T, PEP ¢ 40mm X 1 &

R 1Y 0.60m NO, 5
g 4 R
TiE £ K TZE S % & H %
H#
FYIFLYE A (e EY) AR47°
YRI5 KiE ¢ 50 % 20 5 5
FYIFLVE A B#7
TEIKERT ¢ 50 x ¢ 40 1 1
¢ 20
kR Y IR FCD =ZRm# & 5 5 = 5
¢ 250 $ 40
LRSS A 15 (FA5%) [ 1 1 = 1
TUHH ¢ 250
LWL L& H=300 & 1 1 = 1
oA ¢ 250
L WYLS JE&R (FRZ) H=40 | {& 1 1 = 1
FE (ERT]
FYIFLVE A
RKBETAAT ®50% ¢ 20 G331 5
FYIFLVE A
TR KER T ®50% ¢ 40 331 1
THE
MIH A847° HEEEIEB>4m
FRKEERT PEP ¢ 20 BT 5/L=2.0m + L=2.0m + L=1.6m + L=2.3m + L=1.6m L=1.9m
MIH B4#47° HIEIEB>4m
HHKEERT PEP ¢ 40 BT 1] L=2.9m L=2.9m
¢ 250
HUFRASEEMRT A5 (FAE%) | @A 1 1 = 1
T+ A ¢ 250
Ly Uk ) AR T L+ TF#& H=300 & 1 1 = 1
T+ A ¢ 250
VY Uk AR T EEB(Hf2) H=40 | {& 1 1 = 1
(£T]
¢ 20
HWAKEID hEEE m 8.0 8.0 = 80
¢ 40
#HWAKETQ hEEE m 2.6 2.6 = 26




T I ¥ R K i %
No.5 NO. 1 TI® NO. 2 TI® NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
MK E (K E B 50mmHPPE) 758 80 =EEL 26 =EEL SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 B BER=

AsEliZEhR 2.00 16.00 2.00 5.20 21.20 )¢ 21)

SEUMT t=15cmA T m
AsEiZEhR 0.50 4.00 0.50 1.30 5.30 ) ( 5)

SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.29 2.32 0.35 0.91 3.23)( 3)

AR R T ME L m3
BHO. 13m3 0.1 0.88 0.12 0.31 1.19)( 1)

HHERT BER m3
BHO. 13m3 0.08 0.64 0.13 0.34 0.98 )| ( 1)

HERT HESL m3
(RC-30) 0.50 4.00 0.50 1.30 5.30 ) ( 5)

TREERET t=10cm m2
(RM-30) 0.50 4.00 0.50 1.30 5.30 ) ( 5)

LRERET t=12cm m2
BAZTHLAs13mm 0.50 4.00 0.50 1.30 5.30 ) ( 5)

B R 18 16 t=3cm m2
BitunT 0.20 1.60 0.21 0.55 2.15)|( 2)

(£8) 2tDT m3
BitunT 0.03 0.24 0.03 0.08 0.32)|( 0.3)

(AS) 2tDT m3,
ZAE 0.07 0.56 0.07 0.18 0.74)|( 0.7)

ASH% t

=R oK E #




T I #% E & & EBE
No, 1
s = @D PEPp20 L= 80 m
B s B = il H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.50 X( 0.63 — 0.05 )= m3 0.29
T BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
T BHO. 13m3
LG TN A 1.00 X 050 X 0.15 = m3 0.08
AT (RC-30)
t=10cm 1.00 X 0.50 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 0.50 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
LG T 2tDT Al AL
FEAS 177 0.29 —( 0.08 = 0.90 )= m3 0.20
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 050 X 0.05 = m3 0.03
EIN -
TAT7 /iR 0.03 X 235 = t 0.07

=R M K E &




H
H
32
il
o
o
i

No,2
a5 = @ PEPp40 L= 26 m
B s B = il H= 0.70 m
EHEEE = 0050 X 0050 X =z / = 0.002
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsGEER t=15cmLL 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.50 X( 0.75 — 0.05 )= m3 0.35
HEECT BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.25 — 0.002 = m3 0.12
HEECT BHO. 13m3
LG TN A 1.00 X 050 X 0.25 = m3 0.13
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
FEFH T 2tDT mElt+ mHEt
FEAA 1+ 0.35 —( 0.13 = 0.90 )= m3 0.21
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 050 X 0.05 = m3 0.03
EIN -
TR/ 0.03 X 235 = t 0.07

=R M K E &



SFI6EE ME T ZAT 1225 @I 208 G 50mn- @ I5MEC K E R BB LS —RmBZE/\T B
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LERKELEESEXA=REHHR




EEl, REIE
BAEZRET7Z7RAO(13)
W) B AR EZARN-30
BAYLARARC-30

>
&
&

0

50
0

H1
T4y
W
1
H

Sirh k
(HPPE(?."T)I/\)

200 (L
2 |H3100 3

=
D
H

[B&{E]

T TINoFEUrfE| D | W Y H [ HI [ H2 | H3 [ &*&
@-1 [#75 | 90[600| 710(Ftg)| 800| 750| 290| 260 |HPPE
®-2 [¢50 | 60600 700 760 710| 260| 250 [HPPE
®-3 [¢50 | 60600 700 760| 710| 260| 250(VLP

Q@ TEEE

¢
R REI8
BABHNET X2 (13)
W B 4 i R R RM-30
BAYLARARC-30
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